Pre-Calculus 11

6.4b The Ambiguous Case of the Sine Law
Investigation

Find the height of the triangle.
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Using a ruler, complete t e following triangles. In each triangle, you are given £A = 30°, and

side b = 6cm. You are not given the length of side c or the measures of the other two angles.

Triangles Need to Know
Letsidea = 2 cm. C If £A is acute and
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Let side a = 3 cm. C If £Ais acute and
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Let side a = 4 cm. C If £A is acute and
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5. Lletsidea = 6cm. If £A is acute and
- azb , there is
Le™ om one Higngle
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Example #1:
Daniel and Zane are amusing themselves by playing with a helium filled balloon

out in the back field. Daniel's rope is 7.8 m long and makes an angle of 36.0°
with the ground. Zane's rope is 5.9 m long. Assuming that Daniel and Zane form
a triangle in a vertical plane with the balloon, what is the distance between Daniel
and Zane, to the nearest tenth of a metre?
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Ty Wis' Leanne & kewy Grt k\\w\g in Yhe mowntaing .

ey et their car and walked NW forizY kmio the
Compsite. 1\/\«1 Yhen fumned due south and walked another
.0km fo o lake. e weathey 100k G VM fov the woe,
so 4hey wanted o head back o the cor. Theangle from
the path +o fhe CAmpsite and path o lake S 30 what

anee it fomahe lake 3o the cov’
Ao ite siep ©: find £ of lake (6)
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